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YsourceDesc[=±³ J£ª£«£¬²=¥°­³®±= § ª§­¥°~®¦§¡~ª=§¬¤­°«~²§­¬=¤­°=²¦£=¢­¡³«£¬²=±³¡¦=~±=²¦£
²§²ª£I=²¦£=~³²¦­°I=²¦£=®³ ª§±¦£°I=²¦£=¢~²£ ¢­µ¬ª­~¢£¢=~¬¢=²¦£=roi=§²=µ~±=¢­µ¬ª­~¢£¢=¤°­«K

q¦£= ±£¡­¬¢= £ª£«£¬²= ­¤= ²¦£= ¦£~¢£°I= ²¦£= YprofileDesc[= §¬¡ª³¢£±= §¬¤­°«~²§­¬= ~ ­³²= ²¦£
¡­¬²£¬²=­¤ ²¦£=¢­¡³«£¬²K=f¬=®~°²§¡³ª~°I=²¦£=YlangUsage[=±³ J£ª£«£¬²=°£®­°²±=²¦£=ª~¬¥³~¥£=­¤
²¦£=¢­¡³«£¬² ~¬¢=²¦£=YtextClass[ ¦­ª¢±=²¦£=©£·=²£°«±=­¤=²¦£=¢­¡³«£¬²I=²¦£=±³ J¢­«~§¬=~±
§¢£¬²§¤§£¢= ·=²¦£=q­®§¡=`ª~±±§¤§£°=E±££ OKNKRFK=f²=§±=µ­°²¦=«£¬²§­¬§¬¥=²¦~²=²¦£=©£· ²£°«±=§¬¡ª³¢£¢
§¬±§¢£=²¦£=Ykeywords[=±³ J£ª£«£¬²=­¤=YtextClass[=~°£=²¦£=©£·µ­°¢±=£¶²°~¡²£¢ ¤°­« ²¦£
«£²~¢~²~ ­¤=²¦£ µ£  ¢­¡³«£¬²K=q¦£°£¤­°£I= ²¦£±£=²£°«±=±¦­³ª¢=¬­²= £=¡­¬¤³±£¢=µ§²¦= ²¦£ ²£°«±



T

aQKRW=o£®­°²=­¬=²¦£=¤§¬~ª=`^^=±³ ±·±²£«=~¬¢=§²±=¡­«®­¬£¬²±

¢£²£¡²£¢= §¬= ²¦§±= ®~°²§¡³ª~°= ¢­¡³«£¬²= ¢³°§¬¥= ¡­«®~°§±­¬= µ§²¦= ²¦£ ¢­«~§¬ ¢£¤§¬§²§­¬K= q¦£
Yannotations[= ±³ J£ª£«£¬²= ­¤= YprofileDesc[= §±= ³±£¢= ¤­°= ±²­°§¬¥= ª§¬©±= ²­= ­²¦£°
¢­¡³«£¬²± °£ª£´~¬²= ²­= ²¦§±=  ~±§¡= ´£°±§­¬K= ^¤²£°= ²¦£= £¶®­°²§¬¥= ®¦~±£I= ²¦£°£= §± ­¬ª·= ­¬£
Yannotation[=µ¦§¡¦=®­§¬²±=²­=²¦£ ­°§¥§¬~ª eqji ¢­¡³«£¬²K

q¦£ Ybody> £ª£«£¬²=¡­¬²~§¬± ²¦£=¡­¬²£¬²=­¤=²¦£=¢­¡³«£¬²=±£¥«£¬²£¢=§¬=®~°~¥°~®¦±K=_£±§¢£±
²¦£= ¬­°«~ª§¸£¢= ²£¶²I= £~¡¦= ®~°~¥°~®¦= £ª£«£¬²= Yp[= §± £¬°§¡¦£¢= µ§²¦ ~²²°§ ³²£±= ®°­´§¢§¬¥=«­°£
§¬¤­°«~²§­¬= ~ ­³²= ²¦£= ®°­¡£±±= ­³²¡­«£K p®£¡§¤§¡~ªª·I= EYp[F £ª£«£¬²±= §¬= ²¦£= uji= ¤§ª£±= «~·
¡­¬²~§¬=²¦£=¤­ªª­µ§¬¥=~²²°§ ³²£±W

NK ¡°~µª§¬¤­µ§²¦=®­±±§ ª£=´~ª³£±W

~K  ­§ª£°®ª~²£I=«£~¬§¬¥=²¦~²=²¦£=®~°~¥°~®¦=¦~±= ££¬ ¡­¬±§¢£°£¢= ­§ª£°®ª~²£  ·=²¦£=`ª£~¬£°
«­¢³ª£=E±££=±³ ±£¡²§­¬ OKNKPF ~±=±¦­µ¬=§¬=²¦£=¤­ªª­µ§¬¥=£¶~«®ª£W

<p id="p1" crawlinfo="boilerplate">Home</p>
<p id="p2" crawlinfo="boilerplate">Partners</p>
<p id="p3" crawlinfo="boilerplate">Main Menu</p>
<p id="p4" crawlinfo="boilerplate">Home</p>
<p id="p5" crawlinfo="boilerplate">Background</p>
<p id="p6" crawlinfo="boilerplate">The Theme for 2011</p>
<p id="p7" crawlinfo="boilerplate">How can you participate?</p>
<p id="p8" crawlinfo="boilerplate">Register your Activity</p>
<p id="p9" crawlinfo="boilerplate">WMBD Around the World</p>
<p id="p10" crawlinfo="boilerplate">WMBD Community</p>
<p id="p11" crawlinfo="boilerplate">Press / Materials</p>
<p id="p12" crawlinfo="boilerplate">Related Links</p>
<p id="p13" crawlinfo="boilerplate">Partners</p>
<p id="p14" crawlinfo="boilerplate">Translate this Site:</p>
<p id="p15" crawlinfo="boilerplate">Partners &amp; Sponsors</p>
<p id="p16" crawlinfo="ooi-length">WMBD Partners:</p>
<p id="p17" topic="sustainable development">United Nations
Environment Programme (UNEP) is the voice for the environment
in the United Nations system. It is an advocate, educator,
catalyst and facilitator, promoting the wise use of the
planet's natural assets for sustainable development.</p>

 K ­­§Jª~¬¥I ¢£¬­²§¬¥=²¦~²=²¦£ ®~°~¥°~®¦=§±=¬­²=§¬=²¦£=²~°¥£²£¢=ª~¬¥³~¥£K l¬£=­¤=²¦£=°£±³ª²±
­¤ «~¬³~ª= £´~ª³~²§­¬= §¬ ²¦£= ¤§°±²= £´~ª³~²§­¬=¡·¡ª£I= °£®­°²£¢= §¬=aTKO c§°±²=£´~ª³~²§­¬
°£®­°²K=b´~ª³~²§­¬=­¤=m^k^`b^=´N=~¬¢=®°­¢³¡£¢=°£±­³°¡£±µ~± ²¦~²=~ ­³²=RB=­¤=²¦£
~¡¯³§°£¢ ¢­¡³«£¬²± ¡­¬²~§¬£¢= ~²= ª£~±²= ­¬£= ®~°~¥°~®¦= ¬­²= §¬= ²¦£= ²~°¥£²£¢= ª~¬¥³~¥£K
q¦£°£¤­°£I= ²¦£ b¶®­°²£° ~®®ª§£±= ²¦£= £« £¢¢£¢= ª~¬¥³~¥£= §¢£¬²§¤§£° E±££= ±³ ±£¡²§­¬
OKNKQF ~²=®~°~¥°~®¦= ª£´£ª= ~±=µ£ªªK= f¤= ~=®~°~¥°~®¦= §±=¬­²= §¬= ²¦£ ²~°¥£²£¢= ª~¬¥³~¥£I= ²¦£
~²²°§ ³²£ ¡°~µª§¬¤­²~©£±=²¦£=´~ª³£­­§Jª~¬¥K ^±=~¬=£¶~«®ª£I=¬­²§¡£ p63 ®~°~¥°~®¦=§¬
²¦£=ª§±²§¬¥= £ª­µK

<p id="p61" topic="delta;marsh">The waters of the Danube, which
flow into the Black Sea, form the largest and best preserved of
Europe's deltas. The Danube delta hosts over 300 species of
birds as well as 45 freshwater fish species in its numerous
lakes and marshes.</p>



U
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<p id="p62" crawlinfo="ooi-length">Delta du Danube</p>
<p id="p63" crawlinfo="ooi-lang">Les eaux du Danube se jettent
dans la mer Noire en formant le plus vaste et le mieux préservé
des deltas européens. Ses innombrables lacs et marais abritent
plus de 300 espèces d'oiseaux ainsi que 45 espèces de poissons
d'eau douce.</p>

¡K ­­§Jª£¬¥²¦I=¢£¬­²§¬¥=²¦~²=²¦§±=®~°~¥°~®¦=§±=±­=±¦­°²=²¦~²=£§²¦£°=§²=§± ¬­²=³±£¤³ªI=­°=§²=¡~¬
¡­¬¤³±£= ²¦£= ª~¬¥³~¥£= §¢£¬²§¤§£°K ^¬­²¦£° ¤§¬¢§¬¥= ¤°­«= ²¦£ ¤§°±²= £´~ª³~²§­¬= ¡·¡ª£ µ~±
²¦~²= ~= ´£°·= ª~°¥£= ®°­®­°²§­¬= ­¤= ²¦£= ¢­¡³«£¬²± E~®®°­¶K= UMBF= ¡­¬²~§¬£¢= ~²= ª£~±²= ­¬£
±¦­°² ®~°~¥°~®¦=­¤=­¬ª·=ª§«§²£¢=­°=¬­=³±£K q­=£ª§«§¬~²£=²¦§±I=²¦£=b¶®­°²£° ¡­«®~°£±=²¦£
ª£¬¥²¦=­¤=£~¡¦=®~°~¥°~®¦=E§¬=²£°«±=­¤=²­©£±F µ§²¦=~ ®°£¢£¤§¬£¢=²¦°£±¦­ª¢=®°­´§¢£¢= ·
²¦£=³±£°=E±££=®~°~«£²£° «§¬§«³«i£¬¥²¦§¬ OKNKNMF=~¬¢ ¡ª~±±§¤§£± ±¦­°²=®~°~¥°~®¦±=~±
­³²= ­¤ §¬²£°£±² E§K£K ~¢¢± ²¦£= ´~ª³£ ­­§Jª£¬¥²¦²­= ²¦£ ¡°~µª§¬¤­~²²°§ ³²£FK c­°= ~¬
£¶~«®ª£I= ±££ ®QN~¬¢ ®QP®~°~¥°~®¦±= §¬= ²¦£= ª§±²§¬¥=  £ª­µ= E~¬¢ ®SO§¬= ²¦£= ª§±²§¬¥
~ ­´£FK

<p id="p40" type="listitem" topic="forest;nature
reserve">National Trust membership gives you access to green
space and helps fund conservation. The trust manages 250,000
hectares of land, including forest, woods, nature reserves,
farmland and moorland, as well as 707 miles of coastline in
England, Wales and Northern Ireland.</p>
<p id="p41" crawlinfo="ooi-length">Plantlife</p>
<p id="p42">Plantlife works to protect wild plants and their
habitats. Activities include rescuing wild plants from the
brink of extinction, and ensuring that common plants don't
become rare in the wild. It actively campaigns on a number of
issues affecting wild plants and fungi. The Plantlife website
has a wealth of downloadable information about wild plants and
plant conservation. Find out how you can support the
organisation here .</p>
<p id="p43" crawlinfo="ooi-length">Buglife - The Invertebrate
Conservation Trust</p>

OK ²·®£µ§²¦=®­±±§ ª£=´~ª³£±W²§²ª£I¦£~¢§¬¥~¬¢ª§±²§²£«~±=§¢£¬²§¤§£¢= ·=²¦£=`ª£~¬£°=«­¢³ª£
E±££ OKNKPFK

PK ²­®§¡µ§²¦=~=±²°§¬¥=´~ª³£=§¬¡ª³¢§¬¥=~ªª=²£°«±=¤°­«=²¦£ ¢­«~§¬ ¢£¤§¬§²§­¬=¢£²£¡²£¢=§¬=²¦§±
®~°~¥°~®¦K

OKNKVa£J¢³®ª§¡~²­°
q¦£=t£ =¡­¬²~§¬±=«~¬·=¢³®ª§¡~²£ E®~°²±=­¤F ®~¥£±K c­°=§¬±²~¬¡£I _~°­¬§ £²=~ªK EOMMVF °£®­°²£¢
²¦~²=¢³°§¬¥= ³§ª¢§¬¥=­¤=²¦£ t~¡©·=¡­°®­°~=²¦£=~«­³¬²=­¤=¢­¡³«£¬²±=µ~± °£¢³¡£¢  ·=«­°£=²¦~¬
RMB=~¤²£°=¢£J¢³®ª§¡~²§­¬K f¥¬­°§¬¥= ²¦§±=®¦£¬­«£¬­¬=~¬¢ §¬¡ª³¢§¬¥=¢³®ª§¡~²£=¢­¡³«£¬²±=¡­³ª¢
¦~´£ ~ ¬£¥~²§´£= £¤¤£¡² §¬ ¡°£~²§¬¥= ~ °£®°£±£¬²~²§´£ ¡­°®³±K q¦£°£¤­°£I= ²¦£= a£J¢³®ª§¡~²­°
£¶~«§¬£±= ²¦£= «~§¬= ¡­¬²£¬²= ­¤= ²¦£= ±²­°£¢= ¢­¡³«£¬²± §¬= ­°¢£°= ²­= ¢£²£¡²= ~¬¢= °£«­´£= ¬£~°J
¢³®ª§¡~²£±K q¦§±=«­¢³ª£ £«®ª­·± ²¦£=¢£J¢³®ª§¡~²§­¬=±²°~²£¥·NO §¬¡ª³¢£¢=§¬=²¦£=k³²¡¦=¤°~«£µ­°©I
µ¦§¡¦ §¬´­ª´£±=²¦£ ¡­¬±²°³¡²§­¬=­¤=~=²£¶²=®°­¤§ª£= ~±£¢=­¬=¯³~¬²§¸£¢=µ­°¢=¤°£¯³£¬¡§£±I=~¬¢=~¬
jaR ¦~±¦=¤­°=£~¡¦=®~¥£ E±££=±£¡²§­¬ PKOFK

NO ¦²²®WLL±´¬K~®~¡¦£K­°¥L°£®­±L~±¤L¬³²¡¦L²°³¬©L±°¡L¨~´~L­°¥L~®~¡¦£L¬³²¡¦L¡°~µªL
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aQKRW=o£®­°²=­¬=²¦£=¤§¬~ª=`^^=±³ ±·±²£«=~¬¢=§²±=¡­«®­¬£¬²±

^¬=~¢¢§²§­¬~ª=±²£®=¦~±= ££¬=§¬²£¥°~²£¢=§¬²­=²¦£=¤§¬~ª=´£°±§­¬=­¤=cj`=¤­°=¢£²£¡²§­¬=~¬¢=°£«­´~ª
­¤=E¬£~°F=¢³®ª§¡~²£±K b~¡¦=¢­¡³«£¬²= §±= °£®°£±£¬²£¢ ~± ~= ª§±²=µ§²¦=±§¸£=£¯³~ª= ²­= ²¦£=¬³« £°=­¤
®~°~¥°~®¦±=Eµ§²¦­³² ¡°~µª§¬¤­~²²°§ ³²£F=­¤=²¦£=¢­¡³«£¬²K=q¦£=£ª£«£¬²±=­¤=²¦£=ª§±²=~°£=²¦£=jaR
¦~±¦£±=­¤= ²¦£=®~°~¥°~®¦±K=q¦£¬I=£~¡¦=ª§±²= §±=¡¦£¡©£¢=~¥~§¬±²=~ªª=­²¦£°=ª§±²±K=c­°=£~¡¦=¡~¬¢§¢~²£
®~§°I=²¦£=§¬²£°±£¡²§­¬=­¤ ²¦£ ª§±²±=§±=¡~ª¡³ª~²£¢K f¤=²¦£=°~²§­=­¤=²¦£=§¬²£°±£¡²§­¬=¡~°¢§¬~ª§²·=µ§²¦=²¦£
¡~°¢§¬~ª§²·=­¤=²¦£=±¦­°²£±²=ª§±²=§±=­´£°=~=®°£¢£¤§¬£¢=²¦°£±¦­ª¢I=²¦£=¢­¡³«£¬²± ~°£ ¡­¬±§¢£°£¢=¬£~°J
¢³®ª§¡~²£± ~¬¢=²¦£=±¦­°²£±²=§±=¢§±¡~°¢£¢K

OKNKNMcj`=~±=t£ =±£°´§¡£
q¦£= µ£ J±£°´§¡£= §±= ~´~§ª~ ª£= ~² ¦²²®WLL¬ª®K§ª±®K¥°L±­~®ª~ OJ~¶§±L@§ª±®K§ª±®|¤«¡|°­µ ~¬¢
¢­¡³«£¬²~²§­¬ ­¤= ²¦§±= µ£ = ±£°´§¡£= §±= ~´~§ª~ ª£= ~² ¦²²®WLL°£¥§±²°·K£ª¢~K­°¥L±£°´§¡£±LNSMK= f²= ³±£±
²¦°££=«~¬¢~²­°·=®~°~«£²£°±W

NK q¦£ ª~¬¥³~¥£®~°~«£²£°= ¢£¬­²£±= ²¦£= ²~°¥£²£¢ ª~¬¥³~¥£ E±££ OKNKQ ~¬¢ OKNKUFK= `³°°£¬²ª·
±³®®­°²£¢= ª~¬¥³~¥£±= ~°£= b¬¥ª§±¦I= c°£¬¡¦I= d£°«~¬I= d°££©I= f²~ª§~¬= ~¬¢= p®~¬§±¦K= b~¡¦
¢­µ¬ª­~¢£¢=µ£ =®~¥£=§±=~¬~ª·¸£¢= ·=²¦£=£« £¢¢£¢=ª~¬¥³~¥£=§¢£¬²§¤§£°K=f¤=²¦£=¢­¡³«£¬²=§±
¬­²=§¬=²¦£=²~°¥£²£¢ ª~¬¥³~¥£ ²¦£ ¢­¡³«£¬² §± ¢§±¡~°¢£¢K=f¬=~¢¢§²§­¬I=²¦£=ª~¬¥³~¥£=§¢£¬²§¤§£°
§±=~®®ª§£¢=~²=®~°~¥°~®¦=ª£´£ª ­¤=±²­°£¢=¢­¡³«£¬²±=E§K£K=°£ª£´~¬²=²­=²¦£=²~°¥£²£¢=¢­«~§¬F ~¬¢
®~°~¥°~®¦±=§¬=~=ª~¬¥³~¥£=­²¦£°=²¦~¬=²¦£=«~§¬=¢­¡³«£¬²=ª~¬¥³~¥£=~°£=«~°©£¢=~±=±³¡¦K

OK q¦£ ²£°«i§±²§±= ~= ª§±²= ­¤= ²£°« ²°§®ª£²±= EY°£ª£´~¬¡£I²£°«I±³ ²­®§¡[F= ²¦~²=¢£±¡°§ £= ~ ¢­«~§¬
~¬¢I=­®²§­¬~ªª·I=±³ ¡~²£¥­°§£±=­¤= ²¦§± ¢­«~§¬ E±££ OKNKRFK j­°£=¢£²~§ª±=~ ­³²=¡­¬±²°³¡²§¬¥
±³¡¦ ¢­«~§¬ ¢£¤§¬§²§­¬±=~°£=°£®­°²£¢=§¬=±£¡²§­¬=QKN=­¤ aQKPj­¬­ª§¬¥³~ª=¡­°®³±=~¡¯³§°£¢
§¬=¤§´£=ª~¬¥³~¥£±=~¬¢=²µ­=¢­«~§¬±K ^¬= £¶~«®ª£ ¢­«~§¬ ¢£¤§¬§²§­¬= ¡~¬=  £= ¤­³¬¢= ~²
¦²²®WLL¬ª®K§ª±®K¥°L®~¬~¡£~L²£±²§¬®³²L«­¬­ª§¬¥³~ªLbks|²­®§¡±Lbks|bk|²­®§¡K²¶² ¤­° ²¦£
b¬´§°­¬«£¬²¢­«~§¬ §¬=b¬¥ª§±¦ ~¬¢=~¬=£¶²°~¡²=§±=®°­´§¢£¢= £ª­µW

80:chemical waste=deterioration of the environment
25:civil liability=environmental policy
70:classified forest=environmental policy
50:clean industry=environmental policy
50:clean technology=environmental policy
70:clearing of land=cultivation of agricultural land;deterioration
of the environment
100:climate change=deterioration of the environment;natural
environment

PK q¦£ ³°ªi§±²®~°~«£²£° §± ~= ª§±²= ­¤= ±££¢= roi±= µ§²¦= µ¦§¡¦= ²¦£= ¡°~µª£°= §±= §¬§²§~ª§¸£¢ E±££
OKNKNFK ^¬= £¶~«®ª£= ±££¢= roi= ª§±²= ¤­°= b¬´§°­¬«£¬²= §¬= b¬¥ª§±¦= ¡~¬=  £= ¤­³¬¢= ~²
¦²²®WLL¬ª®K§ª±®K¥°L®~¬~¡£~L²£±²§¬®³²L«­¬­ª§¬¥³~ªLbks|±££¢±Lbks|bk|±££¢±K²¶²K

q¦£=µ£ =±£°´§¡£=³±£± ¤­³° ­®²§­¬~ª=®~°~«£²£°±=²¦~²=~ªª­µ=²¦£=³±£°=²­=¡­¬¤§¥³°£=²¦£=¡°~µªW

NK q¦£ «~¶q§«£®~°~«£²£°= ¥³§¢£±= ²¦£= ¡°~µª£°= ²­= ±²­®= ~¤²£° «~¶q§«£«§¬³²£±K= p§¬¡£= ²¦£
¡°~µª£°= °³¬±= §¬= ¡·¡ª£±= E¢³°§¬¥=µ¦§¡¦= ª§¬©±= ±²­°£¢= ~²= ²¦£= ²­®= ­¤= ²¦£= ¡°~µª£° ±= ¤°­¬²§£°= ~°£
£¶²°~¡²£¢= ~¬¢= ¬£µ= ª§¬©±= ~°£= £¶~«§¬£¢F= §²= §±= ´£°·= ª§©£ª·= ²¦~²= ²¦£= ¢£¤§¬£¢= ²§«£=µ§ªª= £¶®§°£
¢³°§¬¥=~=¡·¡ª£=°³¬K=q¦£¬I=²¦£=¡°~µª£°=µ§ªª=±²­®=­¬ª·=~¤²£°=²¦£=£¬¢=­¤=²¦£=°³¬¬§¬¥=¡·¡ª£K=q¦£
¢£¤~³ª² ´~ª³£=§±=NM «§¬³²£±K

OK q¦£²¦°£~¢±k³« £°®~°~«£²£°=±£²±=²¦£=¬³« £°=­¤=¦~°´£±²£°±=²¦~²=µ§ªª= £=³±£¢=²­=¤£²¡¦=µ£ 
®~¥£±=§¬=®~°~ªª£ªK



NM
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PK q¦£ «§¬§«³«i£¬¥²¦®~°~«£²£°= ±£²±= ²¦£= «§¬§«³«= ¬³« £°= ­¤= ²­©£¬±= ²¦~²= ~¬= ~¡¡£®²~ ª£
®~°~¥°~®¦= ±¦­³ª¢= §¬¡ª³¢£K= m~°~¥°~®¦±= µ§ªª= ¤£µ£°= ²­©£¬±= ²¦~¬ «§¬§«³«i£¬¥²¦µ§ªª=  £
~±±§¥¬£¢=~¬­­§Jª£¬¥²¦´~ª³£=¤­°=²¦£=~²²°§ ³²£¡°~µª§¬¤­K

QK q¦£ §¬±£°²|¶±ª²®~°~«£²£° ¡­¬¡£°¬±= ²¦£= §¬²°­¢³¡²§­¬= ­¤ ~ ±²·ª£±¦££²= §¬= ²¦£ uji ¤§ª£ ¤­°
 £²²£°=°£¬¢£°§¬¥=­¤=²¦£=¡­¬²£¬²±=§¬=~=µ£   °­µ±£°K

OKNKNN^¡¯³§°£¢=`­°®­°~
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<p id="p171" type="title">Strategia degli investimenti</p> <!-- -2, 28--!>
<p id="p172">I ricavi degli investimenti sono un elemento essenziale per
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<p id="p175" type="heading">Perché la Suva effettua investimenti
finanziari?</p> <!-- -3, 48, etc... -->
<p id="p176" topic="prevenzione;prevenzione degli infortuni;infortunio sul
lavoro">Nonostante i molti sforzi compiuti nella prevenzione degli infortuni
sul lavoro e nel tempo libero ogni anno accadono oltre 2500 infortuni con
conseguenze invalidanti o mortali. In questi casi si versa una rendita per
invalidità agli infortunati oppure una rendita per orfani o vedovile ai
superstiti. Nello stesso anno in cui attribuisce una rendita, la Suva provvede
ad accantonare i mezzi necessari a pagare le rendite future. La maggior parte
del patrimonio investito dalla Suva è rappresentato proprio da questi mezzi,
ossia dal capitale di copertura delle rendite. La restante parte del
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<?xml version="1.0" encoding="UTF-8"?>
<configuration>

<agent>
<email>yourmail@mail.com</email>
<web_address>www.youraddress.com</web_address>

</agent>
<classifier>
<min_content_terms>

<value>3</value>
<description>Minimum number of terms that must exist in clean

content of each web page in order to be stored.</description>
</min_content_terms>
<min_unique_content_terms>

<value>2</value>
<description>Minimum unique terms that must exist in clean

content</description>
</min_unique_content_terms>
<max_depth>

<value>4</value>
<description>Maximum depth to crawl before abandoning a specific path.

Depth
is increased every time a link is extracted from a non-relevant web

page.</description>
</max_depth>

</classifier>
<fetcher>
<fetch_buffer_size>

<description>Max number of urls to fetch per run</description>
<value>512</value>

</fetch_buffer_size>
<socket_timeout>

<value>10000</value>
<description>Socket timeout in milliseconds(per URL)</description>

</socket_timeout>
<connection_timeout>

<value>10000</value>
<description>Connection timeout in milliseconds(per URL)</description>

</connection_timeout>
<max_retry_count>

<value>2</value>
<description>Max number of attempts to fetch a Web page before giving

up</description>
</max_retry_count>
<min_response_rate>

<value>0</value>
<description>Min bytes-per-seconds for fetching a web page</description>

</min_response_rate>
<valid_mime_types>

<mime_type value="text/html" />
<mime_type value="text/plain" />
<mime_type value="application/xhtml+xml" />
<description>Accepted mime types</description>

</valid_mime_types>
<crawl_delay>

<value>1500</value>
<description>delay in milliseconds between requests</description>

</crawl_delay>
<max_content_size>

<value>531072</value>
<description>Max content size (bytes) for downloading a web

page</description>
</max_content_size>
<max_requests_per_run>

<value>512</value>
<description>Max fetch set size per run (Sets are made by URLs from the

same host)</description>
</max_requests_per_run>
<max_requests_per_host_per_run>

<value>512</value>
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<description>Max URLs from a specific host per run</description>
</max_requests_per_host_per_run>
<max_connections_per_host>

<value>32</value>
<description>Max number of fetching threads for each host</description>

</max_connections_per_host>
<max_fetched_per_host>

<value>50000</value>
<description>Max web pages to fetch per host</description>

</max_fetched_per_host>
<max_redirects>

<value>5</value>
<descriptions>Max number of redirects</descriptions>

</max_redirects>
<request_timeout>

<value>600000</value>
<description>Max time to wait for Fetcher to get all URLs in a

run</description>
</request_timeout>

</fetcher>
</configuration>
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